HENEREREES i
SH4E3H16H 0K)

6:550) (81 @ kg )
pHE i RiEL o2 = B Z B " =

SE 238 £S5 1,550.3 1,800 269
HAFH LA 76.4 269 20
JUFLA 724.0 670 20
LSHLA 96.9 319 20
FHAHLA 194.4 379 21
TFELSHLA 903.9 1,100 200
=LA 435.6 350 20
RALA 73.1 299 139
<IHLA 32.8 207 101
HSRFLA 664.3 72 20
SCh 1,897.5 190 23
IS 40.0 869 700 |52 ™
2 RS 1,426.0 31 20
FARLY 168.1 1,490 609
<7+ 35.7 2,389 939
TVAVTAF A 40.7 150 21
7> 2,756.0 224 20
NFHS 373.1 55 26
=L S 39.6 809 389
FAF A 48.3 1,259 120
IXHHT 171.6 720 21
o= 85.6 5,100 890

I 11,833.9




6:550) (81 @ kg )
pHE i RiEY o2 = 1B (] " =
SE 238 SHH 40.5 | 25,000 7,272 |gn

TYRSERF 20.4 550 249
2S5+ hF/ A 32.3 666 596
ERVHA 32.3 400

S RUAH 472.3 560 489
=241 70.3 779 205
TFESHT 4,193.1 650 26
A+F<3 1,547.3 1,600 500

aitaE 18,242.4




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
BEERRHE 16€ |=0OX/VUL 977.4 450 350
e 16E& ASHISSIA 341.0 2,460 1,589
#}D 62 > up YAVIN 228.4 431 400
ho 78 JUSHL A 145.9 450 80
EXTVYRS 26.2 330 80
EXRVHA 71.0 230
DDEIE 43 E~ITOY 2,444 .4 350 250

e

3,256.9




(B : kg)

[i&fA]
BT EEE] fatEd = = fB Z 1B fm =
E 23% £S5 42.9
< 7FI 181.5
S Cm 228.6 700 500
EERAE 168 | X+ 16.2 1,200 1,100
#o 4% £S5 25.3 1,800 600
ne 7 g 30.7 1,000 800
=47 65.5 500
AitHE 590.7




